
Algebra 1    Checkpoint 7A    Answers  

  

  

 (Note: There are many possible correct equations.)  

1.  4.5 cm and 13.5 cm        2.  37 and 39  

   

3.  11 weeks           4.  $56.25  

    

5.  4 quarters, 14 dimes        6.  255 adults, 355 students  

    

7.  4.9 pounds          8.  Harper has 342, Holmes has 467  

    

9.  15 t-shirts, 3 sweatshirts    10.  $185, $220, $370  

    

11.  113 giraffes, 243 monkeys    12.  12 packages  

  

13.  5 pounds of red, 6 pounds of blue  14.  126 minutes  

  

15.  61 years         16.  2 rides  

      

17.  72, 73, 74        18.  77 seeds  


